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QUESTION 1

What must be done to convert a populated base table to a multidimensional clustering (MDC) table?

A. Export the data, create an MDC table, and then import or load the data into the MDC table.

B. Execute the ALTER TABLE ... ORGANIZE BY DIMENSIONS statement to convert the table.

C. Create an MDC table and then move the data in the base table to the MDC table with the db2move command.

D. Export the data, execute the ALTER TABLE ... ORGANIZE BY DIMENSIONS statement to convert the table, and
then import or load the data into the converted table.

Correct Answer: A

QUESTION 2

Which tool provides the simplest method for monitoring buffer pool hit ratios?
A. The BP_HITRATIO administrative view.

B. The BP_WRITE_IO administrative view.

C. The MON_GET_BUFFERPOOL table function.

D. The MON_GET_PAGE_ACCESS_INFO table function.

Correct Answer: A

QUESTION 3

Which type of storage is utilized in the implementation of an effective and flexible multi- temperature database?
A. System managed storage

B. Automatic storage utilizing storage groups

C. System managed storage utilizing storage groups

D. Database managed storage with file system caching

Correct Answer: B

QUESTION 4

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
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A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 5

Which item is NOT eligible for adaptive compression?
A. Indexes

B. Base tables

C. Temporary tables

D. Inline LOB values

Correct Answer: C
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